pony ﬁa. i P ey
e Ss

"uID1Qg

...H.\\aﬁw \\ I 4Y.my

buiidasiajul ¥009 O0+0 = uiDIg 04y OWD| Y pUT OO+.0S

b 86 GE N3 BUIIIMOY PDIYIIND L2+ GOS

4y Ul ysom 89+205

3560

Y2jig wio4 ul JWD,£6X,9¢ B |

?

3540

22uUDIyUT O2+H8%

_,1.Hnu
! i

198AIND JWD 69 x,9¢€

pPDOM UIINUDIH 3 £8+£8F

9bpiig poAkoiisag 0OO0O+clt

T TIT0ID4g IndS 0)/1UI0f 3§ £G+E£9F

41X9 96 +£8¢

500

490

480

470

460

dwn|4 Wb/ dWD G6x,9€3 32+95%\
pUOY Widd § Z6+%5H —

_8oubHu3g 23 ..%m.m,v
3347100 D X b2
7IXT 89755t

3550
3540

450



